Maths Year 3 and 4
Try and do some from each section. You don’t need to do them all.
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Find the answers below
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TARGET To add numbers with up to 3 digits.

Examples
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Copy and complete.
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@ Afootball club has

27 junior players
and 53 adult players.
How many people
play at the club?

® A bicycle shop has
48 bikes for sale and
33 being repaired.
How many bikes
are in the shop.
altogether?

b

B
Copy and complete.
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@ Afarmer has 276
sheep. 139 lambs
are born in the
spring. How many
sheep are there
now on the farm?

@ Micky has read 67
pages of his book
He sill has 143
pages to read. How
many pages are
there in his book?

(® Abasketball team
win their match 88
points to 73. How
many points were
scored in the game
altogether?

c

Set out as in the example.
Q1484157
© 285 + 167
© 457+ 249
© 1389+ 336
@ 2454 + 376

© 159 +1348
@ 2378+ 1259
@ 3463 + 2188
@ 6559 + 2264
@ 4387 + 3178

@ Henry is paid £2749 every
month. His pay goes up.
by £285. What is he paid
now?

@ Astore has 2684
customers during the
week and a further 1937
at the weekend. How
‘many customers does the
store have in the whole
week altogether?

@ In one day 5492 vehicles
cross a bridge going
north and 3828 cross it
going south. How many
vehicles cross the bridge
altogether?
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